
In Figure 2, %b and the DW are shown at a 20-bar lookback 
(top pair) and an 80-bar lookback (bottompair). The longer DW
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Figure 2: %b and dw. Drunkard’s walk gains information content on a longer time frame while %b loses information. For both indicators, the shorter time 
frame is above the longer; +1 marks more information for long DW; ‑1 is more information for short DW.

(Squareroot(LongDnRun)*Denom);
end;

// If the contrary value decreases rapidly, alert 
If LongUpWalk <=BollingerBand(LongUpWalk,20,-SD) then begin

setplotcolor(1,blue);
setplotcolor(4,blue);
end;		

If LongDnWalk <=BollingerBand(LongDnWalk,20,-SD) then begin
setplotcolor(2,yellow);
setplotcolor(5,yellow);
end;

 // if things are getting out of hand, warn
 If LongUpWalk >= BollingerBand(LongUpWalk,20,SD)then begin

setplotcolor(1,red);
setplotcolor(4,red);
end;

 If LongDnWalk >= BollingerBand(LongDnWalk,20,SD)then begin
  setplotcolor(2,cyan);
  setplotcolor(5,cyan);
  end; 

 // Plot indicators   

Plot1(LongUpWalk,”UP”);
Plot2(LongDnWalk,”DN”);

If LongDnWalk > LongUpWalk then plot4(-LongUpWalk,”UpM”) 
Else
plot5(-LongDnWalk,”DnM”);

the up walk being larger, and below the midline it corresponds 
to the down walk being stronger. Similarly, the 20-period up 

TradeStation Code For DW

INPUT: 
DaysBack(80), 
SD(2);
VARS:
Denom(1),
LongHigh(0),
LongLow(0),
LongMaxBar(0),
LongMinBar(0),
LongUpRun(0),
LongDnRun(0),
LongUpWalk(0),
LongDnWalk(0);

LongHigh = Highest(High,DaysBack);
LongLow = Lowest(Low,DaysBack);

LongMaxBar = HighestBar(high,DaysBack);
LongMinBar = LowestBar(Low,DaysBack);

LongDnRun = CurrentBar-LongMaxBar;
LongUpRun = Currentbar - LongMinBar;

If LongDnRun > 0 and LongUpRun > 0 then begin
    If AvgTrueRange(LongUpRun) > 0 then Denom = 
AvgTrueRange(LongUpRun) else denom = 1;

		 LongUpWalk = (High-LongLow)/
(Squareroot(LongUpRun)*Denom);
	 If AvgTrueRange(LongDnRun) > 0 then Denom = 
AvgTrueRange(LongDnRun) else denom = 1;

LongDnWalk = (LongHigh -Low)/




